CHAPTER 21 PROBE QUESTIONS:
  -P.354 

1. What does a phobia refer to?
· Phobia refers to a long-lasting irrational fear

· Fear is produced by what once were neutral stimuli, NS have acquired aversive properties because they’ve been associated with other stimuli that already produced fear

· Fear responses often generalize to other individuals (i.e. doctors)

· So, Sammy fears darkness: means that darkness is a learned aversive stimulus and perhaps a CS for Sammy

· Reactions to the fear-provoking situations are real and we can observe them directly

· Often involve escape or avoidance responses are extreme and may cause harm to the client or others around

· May react emotionally
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2. -What is the difference and similarities between Respondent conditioning and operant conditioning?
· *Operant conditioning: Learning that involves responses maintained directly by the consequences that produce them.

· *Respondent conditioning: Only requirement is the presentation of the US and the CS together over several trials.  After such pairings the CS produces the CR

· Reinforcement doesn’t play a role 
3. -What is Respondent vs. Operant pairing?

· Results of respondent pairing differ from the results of operant pairing 
· Respondent pairings develop conditioned eliciting stimuli (CS) 

· Operant pairings develop learned reinforcers
· *Similarities:  both involve pairing
· A neutral stimulus is presented immediately before a functioning stimulus

· In both the NS acquires the function of the paired stimulus

· *Differences:  in respondent conditioning, the NS becomes a CS meaning it acquires more or less the same eliciting function as the US

· In operant conditioning, the NS becomes a learned reinforcer or a learned aversive condition meaning it acquires more or less the same reinforcing or aversive value as the UR or UAC
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4. -Can someone go over the chart on page 359?
-P.363

5. -How do Respondent EXT and Operant EXT differ?
· In respondent ext no response is necessary for this procedure to have an extinguishing effect

· In operant ext previously reinforced response must occur for the absence of the contingent reinforcer to have an extinguishing effect (we would use this one to determine if we have operant conditioning or respondent extinction)
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6. -What is Higher-order conditioning?

· Pairing of a NS with an effective CS not an US

· i.e. pairing opening a door with the bell that elicited salivation, eventually the NS(door sound) would elicit the CR of salivation through pairing the NS with the CS) 
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7. -Can someone go over the chart on page 365?
8. -Why do some phobias last so long and don’t extinguish?
· Because the person avoids the phobic situation so the phobia never has a chance to extinguish
